"Star Trek"

Entﬁgggption

In "Star Trek" you control the starship "Fnterprise”. Your mission is to
destroy a'l the "Klingon" battlecruisers in the galaxy b2fore time runs out.

Operating Instructions

Reset the Bally and load the "Star Trek" program cassette into the machine.
This is one player game and all control is done thru the keypad. After loading
is complete, the computer will print an "L" {level) on the screen.

1. Novice
2. Amateur
3. Intermediate

Enter:

s

Professional
and press GO. Next the computer will print an "s" (size). Enter a number
from 2-3; (2 means a 2x2 galaxy of 4 quadrants, 8 means a &x8 galaxy of 64
guadrants). The Bally will then print your mission status and ask you for a
command. Enter 1-4 (see commands).

Commands
=1. Wzrp Engines: Enter a 1, and the Bally will print "Warp Engines”, "Course"
Enter the compass heading you wish to follow and press GOC.
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‘ne computer will then print "Power". Enter the amount of power you wish to

aiot te the engines and press 40.  The computer will then move the'Enterprise

Lorg Range Scan: Enter a 2 and the Bally wil print "Scan®, ““wad (x)-{y)7,
and Shr ies of numbers. This tells you what is in all ne'qquor ng adrant
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EXAMPLE : SCAN
Quad 2-2
000 100 030
011 202 200
301 000 001

This means you are in quadrant 2-2

Hard-to-read handwritten note e o

to immediate right says: T /
$(20000)=-22926 .+ . _ N

$(-22931)= R



Yisualize this (the galaxy) Quadrant 2-2

000 100 030//1' _
011 202 200 K1ingons s Stars

001 000 001 \5 2329/

: 3 Fire Phasers: Enter a 3 and the Bally will print "Fire Phasers™, "Power".
Enter the amount of power you wish to alot to the phasers and press G0. If

there is enoughpower, the phasers will fire at the Klingon. Note: the ¥lingon

can also fire at you, in which case each attack will deplete some of your alotted
energy .

#4 Mission Status: Enter a 4, and the Bally will print:

Status
Power = 2500
Days = (,+

Flingons = 12
This means you have 64 days to kill 12 Klingons, and you have 2500 energy units.

Special Explanations

Tuedrant visualization:

“." unoccupied sectors (points in space)

"¥" Klingon Battle Crusier

"8" Star Base (Loading her revitalizes power)
S Star

"E" Enterprise

Cocking at a Star Base:

To docx at a star base, you must move the exact number of sectors to get next
to the star base.
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Course 225 Course 270
Power 1 Power 4, then Course 225, Power 9

Be careful to periodically check you mission status so that you finish your
wittion in the alotted time and with some energy reserve.

Zood Luck
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